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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which two statements are correct about R2? (Choose two.) 

A. If R2 remains in the ExStart state, then you should verify the MTU setting on R2 and R3. 

B. R2 LSDB is synchronized with R1. 

C. If R2 remains in the ExStart state, then you should verify Physical Layer and Data Link Layer connectivity on R2 and
R3. 

D. R2 LSDB is not synchronized with R1. 

Correct Answer: AB 

 

QUESTION 2

Which new field is added to the IPv6 header when compared to IPv4? 

A. version 

B. fragment offset 

C. checksum 

D. flow label 

Correct Answer: D 

 

QUESTION 3
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Which two statements are correct regarding LDP-signaled VPLS instances? (Choose two.) 

A. You must enable the Layer 2 VPN signaling NLRI. 

B. You must configure the same VPLS identifier on all peers. 

C. You must define a the same site-identifier value on all peers. 

D. You must define all neighbors using their tunnel end-point IP addresses. 

Correct Answer: BD 

 

QUESTION 4

To which OSPF state does a device transaction once it receives an initial hello packet? 

A. 2Way 

B. Full 

C. ExStart 

D. Exchange 

Correct Answer: A 

 

QUESTION 5

You are logged in to an MX80 and issue the command "show route protocol bgp" You see that you have received the
route 10.0.4/24 from two different peers. One peer is an external peer and the other is an internal peer. The route
received from the internal peer is active. 

By the rules of BGP preference, what would cause the internal path for this prefix to be preferred over the external one? 

A. Internally learned prefix is preferred over an externally learned prefix 

B. The local-preference value of the internally learned prefix is higher than the externally learned peer 

C. The peer ID of the internally learned prefix is lower than that of the externally learned peer 

D. The internally learned prefix has a shorted cluster length 

Correct Answer: B 

 

QUESTION 6

Which table will a Junos-based MPLS ingress router first consult to determine the next hop for BGP routes reachable
through an LSP? 

A. inet.1 
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B. mpls.0 

C. inet.3 

D. inet.0 

Correct Answer: D 

 

QUESTION 7

Click the Exhibit. 
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Referring to the exhibit, what is the result of applying this policy? 

A. The 172.18.1.0/24 prefix will be redistributed into OSPF as an internal route. 

B. The 172.18.1.1/32 prefix will be redistributed into OSPF as an external route. 

C. The 172.18.1.0/24 prefix will be redistributed into OSPF as an external route. 

D. The 172.18.1.1/32 prefix will be redistributed into OSPF as an internal route. 

Correct Answer: C 

 

QUESTION 8

Click the Exhibit button. 

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. The routes in inet.0 are imported into user-a.inet.0 

B. The RIB group can be applied to OSPF. 

C. The RIB group cannot be applied to OSPF. 

D. The routes in user-a.inet.0 are imported into inet.0 

Correct Answer: BD 

 

QUESTION 9

Which three mechanisms are used by switches to build and maintain bridge tables? (Choose three.) 

A. learning 

B. rewriting 

C. flooding 

D. aging 

E. blocking 

Correct Answer: ACD 
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QUESTION 10

Which two statements are correct about RSVP path messages? (Choose two.) 

A. They are sent by the egress router upstream. 

B. They are sent by the ingress router downstream. 

C. They are used to create an LSP. 

D. They are used to reserve resources for an LSP. 

Correct Answer: BC 

 

QUESTION 11

Which three statements area true regarding BGP local preference? (Choose three.) 

A. A higher value is preferred over a lower value 

B. A lower value is preferred over a higher value 

C. Local preference is not shared between autonomous systems 

D. Local preference can be altered by policy or configuration 

E. Local preference has a default value of 128 

Correct Answer: ACD 

A higher local preference value is preferred over a lower value. These values are not shared between autonomous
systems, and can be altered by policy or configuration. you can use the local preference attribute to direct outbound
traffic through a specific peer. 

 

QUESTION 12

What is the TTL value for EBGP? 

A. 64 

B. 48 

C. 255 

D. 1 

Correct Answer: D 
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